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1.2.1 B FHIEZ B ER S MRER (BRBHEANE) :
(1) — Ig(H 10V, 4% 10kHz;
(2) A %UfE 220V, % 50Hz;
(3) g — g 100mV, J&H# 1ms;
(4) g — 1A 0. 25V, FHiH 1000rad/s ,
[ A ]
EZPRERERR o(t) = V,sinot , T
(1) @RV, =2V, = 10V,V, =5V,0 = 2nf = 2 x 10°(rad/s)
VUGN A=)
v(t) = 5sin(2 x 10*at) (V)

(2) B3RV =220V,V, =42 x220V,0 = 2af = 100w (rad/s)

N SR

v(t) = 220 4/2sin(100mt) (V)
(3) WHV, =2V, =100x107 =0.1V,V, =0.05V,0 = 2—;’— = 2@ x 10° (rad/s)
N ERE)

v(t) = 0.05sin(2 x 10°mwt) (V)
(4) ®HV, =2V, =0.25V,V, =0.125V,0 = 1000rad/s
W {55 A
v(t) = 0.125sin(10%) (V)
1.2.2 [ 2. 2 EHM A 1. 2. 2) g B HRUESE S mFE R EE R P, i A K
P = LTLT(vZ(t)/R)dt HEESERE ERRN TR RERER(1.2.3) (ML

RE) B I AR S A B R IT R B R RO YO BT B LR
RO ER , R =N BT i BEL L AE R S 3R A R BHL B PR RCDI R E AT L
1
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B@1.2.2  JrmmssRm

[ e % ]
() g P = [ (2 -—L de = =
2V, 2V,
(2) X (1.2.3) oA, BRis& . %&ﬁﬁ\_&tﬁﬁﬁﬁﬁ'ﬂﬂﬁ Vs g B
LEATIFE B AR R
HR R
1 (" V,)? v
P, = (7) /Rdt = %
S BN
W ) AN _(1.2V,y’ 2
) (?) sin’ (2wt) /Rds = (J'Z 3ﬂ) /R =
ZWIEES R R
_ L T(2HX e A A
P, = T (317) sin” (3wt)/Rdt = (JZ— 311_) /R = =
(3) BT KB v = 0, FRP, = L[ (V) sin2apt/Rat = 0
Py, =P, +P, +P =£‘E+%%+92?%.~v0_475%
TR, Pos i P, PHIE ST HCA
7 = % x100% ~ %472 5 100% = 95%

L4.1 WEBCRAEHRAMNMER 1. 4. 1( EEHE 1.4.2(a) ) iR, S H 7 B
FEditE A, = 103 5 E IR T BB EHSR A, = 0,/0,:

(1)R, = 10R,,R, = 10R,;

(2)R = R,,R, =R,;

(3)R; = R/10,R, = R,/10;

(4)R, = 10R,,R, = R,/10,

[ i ]

HETSLS, = 2R, +R) 0, = i x A, Bl




BG4, 1 H R e AR 7Y
(1)R, = 10R,,R; = 10R, i,

v, B
v, = E(R +Ri) = Wi
el _10
o =R +RLXA v —IIXIOv
DU) 5 H 3 25
v, 1000,/11
A = 0 = o0 ~ 820
[EBEEIFES
5.
(9)4, = 2 =152 35
2v,
100./11
(3)4,, = > = —2— ~ 0.0826
11w,
v, 10v,/11
(4)4, = 3+ = 005 ~/0.826

1.5.1  ZEFEBOR H Bedi A i & B 4 A IE 5415 5 B WA L FE i 08 — 08643 301l A
SwA FISmV i H i 2k Q) o BH 7 2R, W R B IR 5K HL R AR 50 — (Bl 1V i HROR
FL AR L PR 25 A, BRI 35 A, DRI AR A, IR dB KR,

§ 250589

R T L 35 4 L, P 3 25 PR Y 25 ) 5804 2 1 8 SRS AN T 45 2R
3 5 x 1sinw,t(V)

2 = 200

it 0L 1
vi 5 X Ssinwyt(mV)
A,(dB) = 20lgl A, | = 46.021(dB)

v, 0. 5sinw,t

R (V)
R 8
4, =20 5 EX1P = 100

Y b % x 5sinwyt( wA)

A,(dB) =20lgl 4,1 = 40(dB)



B—R IJAMK

) 2
p (/ZXL) /(2 x 10°)
A, ==l M _ 25 % = 2 x 10*
Pihio 15 10 x 3 x 107
2 X2

;)
Ap(dB) =10lgl A, | = 101g2 + 40 = 43(dB)

1.5.2  SGERHBH R, = 1kQ B, B O H B ) o JE B S 3R IT K (R, = ) B
i L LR 9> 20% , SRAZEIBOA HL B A4 L FRLBHL R,

[ AR 8 B ]
v /v, =1/(1 -0.2) =1.25
R, = (v//v, -1)R, = (1.25 - 1) x1 x 10° = 250(Q)
— L FRTBOAC FhL B 4 3428 1) 970 38R rb BELIST , % b FE SR 1V, 470 288 et BEL BT

f 4 i LR TR L. 1V SRAZEHOR e 36 By 1 L BEL R,
[ e 5 1 )

1.5.3

R, = (v/v, =1)R, = (1.1/1 = 1) x1 x 10° = 100(Q)

L5.4  JCHORHBREA BB R, = 10kQ, 115 1nA B E0E (BN o ) RS, ik

LS £ L LA A 10m A | FF B ) Fh A 10V o SROBOAC i 42 4k Q) 47 28 e BELFF 4 b,
WA A, AR A THERBIS A, I BRSO dB 2R,

[ fir R e 2 ]
_10 _
R, = o = 1(kQ)
v 10
A, = =% = — =¥ __seqy
H » " Ri T10x10° - 0%
i Lty = 41 10° = 8004124 F 58dB)
Vo R R o dac ] 3
i 10 }
j g AT Lo
1 i 1x10°° ¢
R \
P i g s

4 _ >
R+ R = Ty ¥ 10° = 2000 (4124 66dB)

Ap = A, x A; =800 x2000 = 1.6 x 10° (4424F 62dB)
LS55 HUUT=FMckipsrm: (1) miABMER.R, = IMQ,A,,, = 10,R, =

10kQ;(2) Rl R, = 10kQ,A,, = 100,R, = 1kQ;(3) {E4H i HA R, = 10kQ,
Aw = 1,Rs = 20kQo X =R H B4 A, B —MABZE 1000 9 3% L B 3240 25 /1

0. 5W hARITBORA - C RS B WIFHeHLE K 30mV (A2LME) , BN R, = 0. SMQ,
[ e 8 2 ]

ARG A P BELZRY | 75 18 2 780G A 1 e BEL 80 ke e 8 4 540 Sy 5 — NI | 3 PN}
% , DU RIT— % i o AIE—RIHA T — G5 A L BEAE o BT — 2% 1 47 2R, 78 B o e
RN 1.5. 5 Bk,

4



Fif#1.5.5
B—Gk 0 = Ap 2
ol vo |Ieo1 +R;2
H vi_vsRi,+Ri2—0.5+IX3O_20(mV)
. - 10
18 v = 10 x20 x 7=~ = 100(mV)
%:g&%A%E—%%—'g&ﬁtﬂ EEAE*E@’ED Vyy = Vo
Ry - 10
Vyp = Avozvnm = 100 x 100 x 1+10 - 9. I(V)
B S5 G MR, B v, = vs0
_ R _100  _
Vg = U304 R, + R, - 1x9.1 X0 +100 - 7.58(V)
Lh IR )

P, = v5/R, =7.58 x7.58/100 = 0.57(W)
1.5.6 V1. 5.6 Fr7m o 0K H 4 H o 2 5 A BRAH I , SR A A HLBEL R, .

[ fe S s ]
M KCL @8 i, = i, + i, ARWIEHWE i, = Bi, W18

=ik =i 4Bl = (1) = (1+5) =
VC I—V il%& %lﬁi‘
R 1
EE1.5.6
AT
. R,
K= =+



B—R IJAR

L5.7  FEH FRTBOR R b BRATIR A, o FEI 25 HG 0 X 4 35 F % 3dB, 764 Rl 4
ABERAT , 555 X A, i i TR 200
[ i i B ]

BHA Vi3V, , Vg S350 g b R 5 At B R 5 Ay Ay 20 318 35 1 B
ST% 5 I R R 25 . RS

201g | Ayy | —201g1 Ay, | = 3(dB)

v, V.
= 20lg
v,

o i

Avo

T2 201g

= 20lg

0

= 3(dB)

VH H H

| Vyl =0.7071 V, |
B PR A PR ) v, R B Ay A0 X A e £ 70. 7%
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2.1.1  HBRUNEGEI2. 1. 1( FEAE2. 1.3) Fim, SR IT IR 25 A,, = 10°, 5
AHBHr, = 10°Q, 8 s r, = 75Q,V, =+ 10V,V_ = - 10V, (1) 3Rz 8ok i i =0 i
FIYE R B R B B/ MBS v, — v, =7(2) BIARH i, =7

£
=1
EEi2.1.1
[m{r&jl@\%]
(1) AR ER B/ NMEE v, -0, = v,/A,,, %0, =£V,, =+10Vifv, -, = £10/10°
=+ 10(pV),
(2) AT

iy = (v, —,)/r; =+10/10° =1 x 107 (pA)

2.1.2  HEIIEE2. 1. 1(EHHE 2. 1.3) Fiz, SR A, =2 x10°,r, = 2MQ,
r, =75Q,V, = 12V, V_ = - 12V &5 B R R + V,, =+ 11V, (1) g
v, = 25uV,0, = 100V, iKRE L HLIE v, = 25205 | o, RENZ7(2) B V,, = £ 11V,
HE e

[ s 2 ]

(1)v, = A, (v, —v,) =2 x10° x (25 -100) x 10~ = - 15(V)

B E B C AL Y, = - 11V,0, REB/NF - 11V, [JH ik v, RAATEBEE] - 15V,

(2)V, =+11V i, 4

11
v, —v, ==+

gD 2 x10°
WL, v, B £ 11V B (v, —v,) =+ 55(pV), BIEL a(55u V. 11V) (b( = 55uV,
- 11V) B Ef R, R X RN

__ 1
* 55 %107

2.3.1  BEE2.3. 1 Eg A SRRSO SR E () ~ (d) S B U o, 19
7

=+ 55(uV)

A

=2 x10°, ZLEM2.1.2,



B—R YA

{E:o v"N
[ fr e ¥ ] 15}
*UFH“E@” ﬁ“ﬁﬁ” mmﬁ:vn = vp’ii = 00 ol a 11V
H & (a) ATAI: /
. 0-v v -0 -55 f
o= R, R, T100 T /955 100 200
02250 =
10 20 -10
s v, = 6(V) 15
HE (b) AT1%
& - Ef%2.1.2
vo= (Lo = (1455)x2 =6V

H & (c) ATfE
v, =v, =0,9, =+2(V)
HiE (d) ATg
v, = v, =+2(V),», =+2(V)

(a) (b)

R
= e ]
20kQ2
v v,
—0 —0o0
v, v
v 9 v o
P B
2V l

(¢) (d)
FEi2.3.1

y -y /uV

2.3.2 HEIER2. 3.2 FiR, Bg BUEEAR A, B (a) MBS o, = 6V, B (b)
BEH v, = 10sinwt(mV) , B (c) BB v, = 0.6V,0, = 0. 8V, R4 A HLBE %t o

Fi v, FIE (a) \(b) H14% 3 B H 38 .

[ e % )

el (a) R REAE" . HEWE” BOMER 10, = v,y = i) = 0,4
8



BLE ZEHAKRE

R, 10kQ

R, 12
_—vn_—vp__l__
1,3_1,4_—R3 _—R3 — 10— 02(mA)

LTI, N
b = 3 = 0.8(mA)

i, =1y +1,

i, =i, —i, =0.8 ~(-0.2) =1(mA)




B—R YA

I (b) I« KekE” “ HEWT” BB w0, = v, = 0,i, = i, = 0,

v, = - (Iﬁ)vi =- %( 10sinwt) = — 150sinwt(mV)

R,
: 2 v; — U, . .
by =h SrTp— = 10sinwt/1 = 10sinwt( pA)
1
. _ Y% _ —130sinwt _ a0 -
il= R - == e 30sinw( wA)
i, = i, —i, =— 30sinwt — 10sinwt = — 40sinwt( pA)
Bl (c) R A, #%H B
Ry 100
v, _——R—l«uil == x0.6 =-1.2(V)

2oy B AL A, IR Ry

_ Ry, R, _ 50 50 _
v == R0 +(1 +R—2)vi2 =X (- 1.2) +(1 +17.6)x0.8 = 1.8(V)

2.3.3 (1) &it—FABORCH B, WA 2. 3.3 (a) Bras, i 3RH2E A, = 10,24
v, =0.8V B, Jiiad 5 —HL B L /N T 100pA 3R R, A1 R, HYR/IME; (2) B0 —RAHTK
FHLEE, NP 2. 3. 3(b) Fin , BRI A, = v,/v, = -8, ARy, = - 1V,
i H B /N T 20pA 3R R, I R, HYBR/ME

A m( - un)

+) )
+<5 "a p—o0 ¥
_ lkl _’z> R,
R
*) - Ao R
“eo s o >~wo
R TReR L
l_ _
o i“f% K
(a) | (b)
EEi2.3.3
§ 250589
(1) [EAHBCRCH B E R 2. 3.3(a) i, A
V s vn vi
v, ‘=0, ='v;,ig =ITI=E1—
Ie1 P — vi O. 8 = 8(](0)

"t e 100 x 107
10



B2E THKKRSE

Ry = 11.5R,, =11.5 x8 = 92(kQ)

(2) AR H B RE 2. 3. 3(b) iR, A

| v | 1V
R, = = =50(k
i e 20 X 107°mA ()

R
Av = R_2 el 8’R2m‘ . 8lein = 8 X 50 7 400(1(0)
1

2.3.4 WU - HERIRAT AN B 2. 3. 4 TR o BOGERIAR AN %t L T VE K33 Ty
AR i3 {55 AR R, > R, IIEBI L R v, = - iR,
A R

FEi2.3.4

[ At ]
X R, >R, BAG, =i, = i,Wv, =-iR =-i,R,
HLEE IR 2. 3. 5 R , BOB R BAR A, AR THI Ve = Va - Vg = 0.7V,

2.3.5
(1) SREMREH) c.be FSARMIHBNALE; (2) #HEREEN 200mV , 5K =M Rk R
ﬁﬂ = Ic/IB %{Eo

EBi2.3.5

[ fie R ]
(1) MRIEATEATH ¢ b e R LIS 51K
11



B—RKR IJAEMK

Ve=V,=V,=6V,Vy=V, =V, =0,V =-0.7V
-V 12-6 _ V. 200 _ 3
(2)1I, = e _lmA,IB—Rz_ 0 = 20 x107(mA)

BLLB = 1© = 50,
241 — P ABLAIRR SRR B 2. 4. 1 R IR o, = £(8) ikt

AR
(8=F)
G2 4.1
[ i s ]
@E 2- 4' 1 EP Al \AZ ﬁ%gmm%ﬁ9ﬁ
v:v:iv-v =g = R u4=luA
el & T g rivie P T R+R(1+68) 2+48"
vg — =( 1 —L)v-= =L
B 2+8 277 T 2(2+98)

Ay HRE RS A

R R R =
Ug "= R_j(”oz —vy) = 172('”}3 —v,) = R_z( g )”i

| 1\4 +28
2.4.2 2. 4.2 AR AN SR R B L5 4, = 0,/ (o,
- vy) WRER,
[ e/ 8 B ]
Vg = 0,0, = U,
¥ ALH
Va=V,=0
Vy + — 0, R,
R, ™ R, ™ TTR™
XF AL H
; R, R,

12



